
1
7
6
,0

2
1
,0

4
0
,0

300,0 150,0

2
,0

1
0
 x
 1
6
0

1
4
,0

2
,0

1
6
,0

1
4
,0

2
0

1
7
6
,0

300,0

8
,0

1
4
,0

2
0

2
,0

1
6
,0

39
20

17,0

7
0

25,0

17,0

10
80

1
7
0

1415

11
85

1
1
,0

170,0

585

1
3
5

70

152,0

1
0
,0

1
0
 x
 1
6
01
1
,0

175,0

382,5

15,5
25,0

1940

25,0

1350
30,0

1150 137,5

1350

137,5

275,0

2
,0

1
6
0

2
,0

343,0

105,0

1
1
0

105,0

1
1
0

1
1
0

1
1
0

343,0

343,0

200,0

0,000±

1,760+

 BIEG Sch 1
1 : 20

# 1
0

NR
 1

co 
150

# 1
0

NR
 1

l = 
441
0

z fundamentu

# 10 NR 55 co 100

# 1
0

NR
 2

co 
150

# 1
0

NR
 2

l = 
142
0

# 10 co 150

# 1
0

NR
 3

co 
150

# 10 NR 3l = 2710

# 10 NR 65 co 100

# 10 NR 77 co 150

# 10 NR 8co 150

8

NR
 4

co 
250

8 NR 14co 250

# 10 NR 3co 1508 NR 9co 250

# 10 NR 8l = 1700

8 NR 9l = 790

 BIEG Sch 2
1 : 20

1,760+# 10

NR 10

co 150

# 10 NR 55 co 100

# 10 NR 65 co 100

# 10 NR 77 co 150

# 10 NR 10co 150

3,520+

# 10 NR 11co 150

8 NR 14co 250

# 10

NR 12

co 150

# 10 NR 11l = 2300

# 10

NR 10

l = 5730

# 10

NR 12

l = 1600

# 10

NR 13

co 150

# 10

NR 13

l = 1450

3

3

1

1

PRZEKRÓJ
1:20

 1 - 1

# 10 NR 1co 150

8 NR 4co 250

8 NR 4l = 1350

8

NR 4

co 250

PRZEKRÓJ
1:20

 3 - 3

8 NR 4co 250

# 10 NR 10co 150

2

2

# 10 NR 8co 150

8 NR 14co 250

# 10 NR 3co 150# 10 NR 11co 150

# 10 NR 10co 150

# 10 NR 7co 150

# 10 NR 7l = 5750

PRZEKRÓJ
1:20

 1 - 1

# 10 NR 6l = 3650

# 10 NR 5l = 3430

8 NR 14l = 2000


